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0
Summary

This contribution proposes ACLR and ACS, based on the simulations [1-4].
1
Introduction
Simulation results of NR-NR coexistences are provided in [1-3]. The required ACIR to achieve 5% throughput loss for all scenarios is proposed in [4], which is copied below.

Proposal: Adopt ACIR of 20dB for DL and 15dB for UL to derive ACLR and ACS.

In the last RAN4 meeting, WF on how to determine ACLR and ACS from ACIR for WP5D was agreed [5].
2
ACLR and ACS proposal
ACIR is the effect combination of ACLR and ACS, which has the relation of 1/ACIR = 1/ACLR + 1/ACS. From our simulations, we propose ACIR of 20dB for DL and ACIR of 15dB for UL. In current LTE, UE ACLR is 30dB for PC3, and UE ACS is 33dB for 10MHz, 30dB for 15MHz, and 27dB for 20MHz. BS ACLR is 45dB and BS ACS is much larger than UE ACS. It is obvious that the current LTE BS ACLR and BS ACS requirements are much tighter than UE ACLR and UE ACS, respectively.
Considering all these factors, we propose the following.

Proposal 1: Adopt BS ACLR of 25dB and UE ACS of 22dB.

Proposal 2: Adopt BS ACS of 20dB and UE ACLR of 17dB.
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